# Mandurah Baptist College Secondary





PLEASE ORDER ONLINE AT <u>www.campion.com.au</u> using "SBYF" as your code BEFORE Friday 14th December 2018 OR

SEND YOUR COMPLETED LIST TO CAMPION VIA DETAILS BELOW Orders can still be placed past the 'return date' but it may incur a late fee.

ALL ORDERS MUST BE PREPAID

## PREPACKAGED DELIVERY SERVICE STUDENT GIVEN NAME(s) STUDENT SURNAME **ADDRESS** SUBURB STATE POST CODE PARENT/GUARDIAN MOBILE/PHONE NUMBER **PARENT EMAIL ADDRESS** - REQUIRED SCHOOL SUPPLIED STUDENT **EMAIL ADDRESS** CREDIT CARD PREPAYMENT - WILL BE PROCESSED AT TIME OF ORDER ENTRY MasterCard Card No.: Cardholder's Name: **Expiry Date:** Signature: ▼ TEAR OFF SLIP - PLEASE RETAIN ▼

Your home delivery order will be dispatched for \$8 the week ending 18th January 2019 if placed on or before the cut-off date of Friday 14th December 2018.

Home Delivery orders can still be placed after the cut-off date but a late fee of up to \$17.50 will be charged.

Please note: Any orders being returned to Campion by mail must be received two days prior to the cut off date at the top of this page to ensure your order does not incur a late fee.



## How to order your resources

### Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

#### Options to order

#### **Home delivery**

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- Ordering instructions
  - 1. Log on to www.campion.com.au
- 2. Click on Online ordering for parents and students.
- 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
  - 4. Select your school and enter in your 4-digit Resource List code, which is on the front page of this resource list.
  - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
  - 6. Enter in your delivery option and complete details.
  - 7. Review and complete purchase.
  - 8. Once completed an order confirmation will be sent to your email address.
  - 9. If you have purchased any ebooks you will receive a seperate activation email. You will need to follow the instructions within the email to complete the set up of each product.
- Boarders

If you wish your order to be delivered to the school, please tick the 'Boarders' box on the front of your list (where applicable) and put your boarding house address in the address field.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. **Delivery of these orders cannot be guaranteed prior to the commencement of the school year.** 

#### 'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

#### Malaga - 751 Marshall Road, Malaga (next to Stratco)



#### Willetton - 28/32 Kembla Way, Willetton



### **Trading Hours**

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours (21st Jan 2019 - 8th Feb 2019) Saturdays 8:30am - 2:00pm(Jan 19th, Jan 26th & Feb 2nd 2019)

#### **Refunds**

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to February 2019 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

#### **Have a Question?**

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

Ø

Item Item Unit Total Qty Office Use Description No. Reqd Reqd Price \$ Amount \$ **SCHOOL RESOURCES** Please note that there are digital products (eCoded) on this Resource List. These items can only be ordered online, and cannot be refunded. These products are single user licences and are only valid for 1 year (unless otherwise stated). **ADDITIONAL CHARGES - YEAR 9** The curriculum and miscellaneous items listed below will be added to your Annual Fee Statement. The following curriculum items will be sourced by the College and are, in this manner, able to be provided at a more competitive rate than if purchased through other providers -English - Online Grammar (Wordflyers) / \$18 Mathematics - Mathematics Electronic text (Mathspace) / \$20 Health Education - Health Workbook / \$30 Science - STILE subscription / \$20 Music - Music Levy (Auralia/Musition) / \$50 (if applicable) The following miscellaneous items are also required -Yearbook (1 per family) / \$30 Student Diary (1 per student) / \$12 ICT Levy / \$75 The following Camp fee will also be added to your Annual Fee Statement-Year 9 Camp / \$355 NOTE:-If a subject/course is not listed, no additional texts or resources have been specified. **STATIONERY** No liquid paper please. SPECIFIED ITEMS These items have been specified for use by several subjects and are required. They can be sourced from other providers if preferred. P51933 22.95 22.95 Calculator Abacus Scientific SXIIMATRIXN (new model) 1 1 P56414 Ruler 300mm Plastic Clear 2 0.75 0.75 P50271 3 Pencil (HB) Goldfaber 2 0.55 1.10 P50466 4 Correction Tape Marbig 4.50 4.50 P55522 Eraser Plastic Pencil Economy in sleeve 5 0.70 0.70 P52082 6 USB Pocket Flash Drive 16GB - NO RETURNS 13.95 13.95 P50547 Earphones Ear Bud With In Ear Drivers 13.50 13.50 **DISCRETIONARY ITEMS** These items are commonly used and can be purchased at parents' discretion. They can be sourced from other providers if preferred. P50613 Highlighter Marker - Pkt 4 Assorted 8 7.70 7.70

4.70

4.70

Lever Arch File A4 Board

P55097

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	10		1	3.30	3.30
P51353	Glue Stick Artline Purple 40gm	11		1	2.60	2.60
P55709	Index Dividers A4 5 Tab (Board)	12		1	1.00	1.00
P56098	Pen Ballpoint Bic Cristal Blue	13		1	0.60	0.60
P56101	Pen Ballpoint Bic Cristal Red	14		1	0.60	0.60
P56215	Pencil Case Tartan Jumbo 340mm x 170mm	15		1	3.10	3.10
P56252	Pencils-Coloured Colourush Pkt 12	16		1	3.95	3.95
P58507	Scissors 155mm Plastic Handle	17		1	2.95	2.95
	MATHEMATICS					
P55554	Exercise Book A4 8mm 128 Page	18		2	1.80	3.60
P56353	Protractor 10 cm 180 4" Half Circle	19		1	0.45	0.45
	ENGLISH					
	Please note that students in Year 9 English do not need to					
	purchase a novel for study. They will borrow their novel					
	from existing class sets within the English department.					
P50196	Highlighter Briteliner Grip Pkt 5 Assorted	20		1	8.75	8.75
P55442	Display Book A4 20 Pocket Black Refillable	21		2	1.95	3.90
P55949	Notebook A4 120 Page Colourhide With 4 Pockets	22		2	6.20	12.40
	SCIENCE					
P55554	Exercise Book A4 8mm 128 Page	23		2	1.80	3.60
E01440	Digital Pearson Science 9 Reader+ (Access Code) 2E  Can only order online at www.campion.com.au – no refunds	24	ORDER ONLINE	≣ 1	35.95	35.95
	HUMANITIES  Mandurah BC Education Perfect Subscription Year 9	25		1	22.00	22.00
E01556	Digital Humanities & SS WA 9 Reader+ (Access Code)  Can only order online at www.campion.com.au – no refunds  Please do not load the ebook until instructed by your	26	ORDER ONLINE	Ξ 1	35.95	35.95
P55554	teacher. Exercise Book A4 8mm 128 Page	27		1	1.80	1.80
	CHRISTIAN EDUCATION					
P55554	Exercise Book A4 8mm 128 Page	28		1	1.80	1.80
	ART ENRICHMENT					
P50440	Pen Fineliner Stabilo Point 188 Black	29		1	2.45	2.45
P56115	Marker Artline #210 Black 0.6mm	30		1	3.60	3.60
P56081	Marker Artline #200 Black 0.4mm	31		1	3.60	3.60
P52001	Pencil (2B) Goldfaber	32		1	0.55	0.55
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	33		1	9.20	9.20
P58518	Pencil Mechanical Pacer 300	34		1	3.95	3.95
	COMPUTING					
P55442	Display Book A4 20 Pocket Black Refillable	35		1	1.95	1.95
	DESIGN GRAPHICS					
P56081	Marker Artline #200 Black 0.4mm	36		2	3.60	7.20
P56115	Marker Artline #210 Black 0.6mm	37		2	3.60	7.20
P56679	Visual Art Diary A4 110gsm 100 Sheet	38		1	10.95	10.95
P58518	Pencil Mechanical Pacer 300	39		2	3.95	7.90
	Where students undertake multiple arts subjects, materials					
	may be used by both subjects. For example if a student studies both Visual Communication and Design Graphics;					
	USBs, pencils and visual diaries can be used for both					
			0.5			

Office Use	Description	ltem No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	subjects.					
	DRAMA					
P51353	Glue Stick Artline Purple 40gm	40		1	2.60	2.60
P50440	Pen Fineliner Stabilo Point 188 Black	41		1	2.45	2.45
P55821	Markers Connector Pens Wallet 20 Assorted	42		1	11.95	11.95
P56448	Scrapbook Megasaurus Bond 335x245 64 Page	43		1	2.05	2.05
	FRENCH					
P00466	Tapis Volant 2 - Workbook and USB (4E) [Zemiro et al]	44		1	43.95	43.95
	(Retain for the following year)					
P55442	Display Book A4 20 Pocket Black Refillable	45		2	1.95	3.90
P55571	Exercise Book 225x175mm 8mm 96 Page	46		2	0.90	1.80
D55574	INDONESIAN					
P55571	Exercise Book 225x175mm 8mm 96 Page	47		1	0.90	0.90
DEE442	MATERIALS AND MECHANISMS	40		4	4.05	4.05
P55442	Display Book A4 20 Pocket Black Refillable Apron.	48		1	1.95	1.95
	MEDIA					
P52082	USB Pocket Flash Drive 16GB - NO RETURNS	49		1	13.95	13.95
P55554	Exercise Book A4 8mm 128 Page	50		1	1.80	1.80
P56327	Pocket Plastic 11 Hole A3 Pkt 5	51		1	4.30	4.30
	MUSIC					
P52001	Pencil (2B) Goldfaber	52		1	0.55	0.55
	VISUAL ART					
P50440	Pen Fineliner Stabilo Point 188 Black	53		1	2.45	2.45
P56081	Marker Artline #200 Black 0.4mm	54		1	3.60	3.60
P52001	Pencil (2B) Goldfaber	55		1	0.55	0.55
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	56		1	9.20	9.20
P56677	Visual Art Diary A3 110gsm 60 Sheet/120 Page	57		1	8.70	8.70
P58518	Pencil Mechanical Pacer 300	58		1	3.95	3.95
	VISUAL COMMUNICATION Students are required to provide an SD card (Minimum of 8GB					
	as well as an 8GB USB).					
	Where students undertake multiple arts subjects, materials					
	may be used by both subjects. For example if a student					
	studies both Visual Communication and Design Graphics;					
	USBs, pencils and visual diaries can be used for both subjects.					
P56679	Visual Art Diary A4 110gsm 100 Sheet	59		1	10.95	10.95
P56081	Marker Artline #200 Black 0.4mm	60		2	3.60	7.20
P52001	Pencil (2B) Goldfaber	61	5	2	0.55	1.10
	WOOD TECHNOLOGY					
P55442	Display Book A4 20 Pocket Black Refillable	62		1	1.95	1.95
	Students are also required to have an apron. These can be					
	purchased from the Uniform Shop or self-supplied.					

 Item
 Item
 Qty
 Unit
 Total

 Office Use
 Description
 No. Reqd
 Reqd
 Price \$ Amount \$

Number of Boxes ticked:

Delivery, packaging & handling \$8.00

ESTIMATED AMOUNT DUE
(PRICES CORRECT AT 05/12/18)

\$